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b3-ch4-6.R

library(openxlIsx)
sample1<-read.xIsx("http:/ gc.iptime.org/book/data/gdp
-a.xlsx")

y.ts<-ts(sample1$GDP, start=2000, end=20

y.ts

lagy<—lag(y.ts, k=—1)

lagy

gy<-(y.ts—lagy)/lagy*100

ay

ly.ts<-log(y.ts)

ly.ts

gly<—(ly.ts—lag(ly.ts, k==1))*100

aly

agy<-mean(gy)

agy
ay.ts<—=((y.ts[181/y.ts[11)"(1/17)=1)*100
ay.ts

plot(gy, type="I", Iwd=3, col="red", main="Exact Growth Rate v
s. Approx. Growth Rate of GDP")
lines(gly, Iwd=3, Ity=6, col="green")
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Exact Growth Rate vs. Approx. Growth Rate of GDP
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b3-ch4-7.R(ZE 0 £9)

library(openxlIsx)

sample1<-read.xlsx("http://kanggc.iptime.org/book/data/gdp-

Isx")

y.ts<-ts(sample1$GDP, start=c(2013,1), f

y.ts

lagy4<-lag(y.ts, k=—4)
lagy4

gy4<-(y.ts—lagy4)/lagy4=100
ay4

ly.ts<—-log(y.ts)
ly.ts

aly4<—(ly.ts—lag(ly.ts, k=—4))*100
aly4

plot(gy4, type="I", lwd=3, col="red", main="Exact Growth Rate vs.
Approx. Growth Rate of GDP")
lines(gly4, lwd=3, Ity=6, col="green")
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